
 

 

 

 

 

 

 

 

 

 

ARITHMETIC OPERATIONS 

I. Which two numbers have a difference of 90,80,246? 
 

 

 

II. Which two numbers give the sum 77,77,957? 

 

 

III. Fill in the blanks 
 
 
 
 
 

 
IV. Solve the given problems. 

1. If Sandeep plans to save 22,450 rupees each month, how much can he 

save in a year? 

 
 
 

 
2. The mass of a chocolate packet is 4 kg 240 g. If 650 such packets are 

stored in a freezer what is the total mass of the chocolates stored in the 

freezer? Give your answer in kg. 
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V.  Estimate the product. Round off each number to the highest place, then 

multiply. 

 

 

 

 

 

 

 

VI. Solve the situations. Make approximate calculations to check your 
solutions. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

HOTS. 

1. Monu is thinking of a four digit number having all different digits. 

a) The units place digit is the greatest one-digit number. 

b) When the tens place digit is divided by the thousands place digit, the 

quotient is 2. 

c) The difference between the tens and hundreds place digit is 1. 

d) The thousands place digit is double of 2. 

(A) 3768 (B) 4789 (C) 5698 (D) 1239 


